Ling120B  Midterm Exam Fall 2018

Answer the questions in the spaces provided on the question sheets.
Good luck!!!

U F 1-2

Total points: /:&2/107
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Question 1: Morphology (10 points)

(a) (5 points) Draw a tree structure for the English word undeniability. Make sure to
label each node. N
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(b) (5 points) Draw a tree structure for the English word remagnetizes as used in the
example below. Make sure to label each node.

(I)  The instantaneity of a flash of lightnin
dles of the electric telegraph, and ofte
direction.
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Question 2: Node relations

Question 3: Coordination rule

-

— 20y,

(13 I)Oints)
Consider the tree in (2) and answer the questions below.

(2) TP
DPT//\T,
/\ /\
D, NP, T VP,
| N | e il
That AP NP,  will VP, AdvP
A N1 V DP2 Adv
| 1 |7 A |
smelly cheese empty Dz NP; quickly
T e e i
the N3
room _
(2) (1 point) What is the root node? TP

(b) (2 points) What are the termina] nodes'? D~ ’* N- LTV, 0. LNs, ﬁ-a\a.c '@—

(¢) (2 points) List all the nodes that VP, domlnates v, OP, D

NP 3 N 3 -—-',
(d) (2 points) What nodes dominate NP3 DP. VP, ,\’ 4 LS ". TP \/

(e) (1 point) Does NP, precede N,? M Yes B’No e /
(f) (2 points) What node exhaustively dominates {will, empty, the, room}?
OTP OT @&V, B’nox‘le/

(8) (2 points) What node exhaustivel
OTP  @DP,” ONP,

y dominates {that, smelly, cheese}?
O none

(h) (1 point) Does smelly s-precede cheese?

BYes @W

' (4 points) E/
Consider the grammatical English sentence in (3) and refer to the coordination rule as
stated in class

¢

(3) Patisa dolt and of no help.
—— | S

O (3) is correctly predicted to be grammatical by the coordination rule;

O (3) is correctly predicted to be ungrammatical by the coordination rule;
>(3) i

[ none of the above. coordiinion e Lresny ~( \'a'

1s incorrectly predicted to be ungrammatical by the coordination rule;
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Question 4: Constituency Tests (12 points)

Consider the following tree structure for (4)-

(4)  That young American writer will answer these questions on v

That (2) will
/\

young (3)
American writer answer (7) on TV
these (8)
|
questions

mbered node with the result sentence of a constituency

Your job is to associate each nu
ake sure to use each of the

test that gives evidence for it. (1)\s- already done for you. M
following types of tests at least. once.

e replacement - MtV
e topicalization |

e clefting |

e coordination |

1/He will answer these questions on TV.

““"Q‘ Thet e il enswer  These @)Mhm ey, B

Hlm s e will enswar tlese WHM o TY.

Qm;y/’_l\a-*' wm-v-& MMC-"'«\ we e W\ bt —flove Wh"‘“ﬁ ay\‘-_-Vo-V\A
t. 5

¥} w\‘
el 6. _Tha MWWWN“*%aAI
Ccte 3
}]/_ 43 (“ﬁut w}‘\mgfﬂ«q wﬂ\é( fﬂ‘»—mtm vm\e_r WA crdwer -~ TV,

(L.,‘\\_/Q_ "h\a:\' geerds Arrtncom  wmler ol emgwer Hoae WH"M"HEN-

—

)
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Question 5: Choosing the right structure (8 Points)
Which one is the right constituency for the phrase [pp this tasty French pastry |7 You wil
be asked to support your answer using a constituency test result that is only compatible

with one of the two structures.

b. DP
this this
tasty pastry

French pastry tasty French
(a) (2 points) The right tree structure is: E/(’a) O () v
(b) (3 points) It is supported by the following constituency test result: L

Wz —\n&’na ,:i- ( V'&E{JU\LW')‘D

(c) (3 points) Explain how the result in (b). supports your answer.
ot 1 T .-q\;me Jest  Shows ns "}L»:l' “Fench
|f\>'-4'f“"‘ar TR e comtbihan)  and —th}wa P "
exbounshvidy  dordeeded by s weda. At B s in
(o) od  wit w2 in (L) bachwe () 3 fe

Covre S)N'V\L'fw <5
Questlon 6: Structural Ce%mblgultles ~ (30 points)

Sentence (5) is ambiguous.

(5)  Susan will marry that guy in the backyard.

Identify the two interpretations and provide an unambiguous paraphrase for each reading
(make sure that your paraphrase is actually unambiguous!). Then give the result of a
constituency test that makes the sentence unambiguous. Use a different test for Reading
A and B. Finally, draw a tree structure for Reading B and answer question (d) about
the tree structure associated with the other reading (that you don’t have to draw!)

(a) (5 points) Reading A
Paraphrase:

T_V\ '_Y\n.t_ ‘oa-.dba,g\_rA’ Suian W\'M Mﬁa, M m -

- Disambiguated with test: <-*°~|"\‘\U-°-»\_ : l/
Resulting sentence:

Suson will de So A TIkE L.w-c).l-afu‘o\
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(b) (5 points) Reading B
Paraphrase:
Twere 3 & gwy 1N e bACL—a—N’F\ and Sugan

WA
v\ ""\Nn’\); .
v

Disambiguated with test: - °uj+""6" (C’b}’rh V\(f‘;)) v’
Resulting sentence:
2= B f\‘k.:\' prvan v ~Alee ‘oc\M Stdean
i Uw:‘f\ M-,LWB—,

(c) (15 points) Tree for Reading B

Draw a tree structure compliant with the X-bar theory.
You can only use tringles for [pp Susan], [vp guy| and [vp backyard].

TP A) T
/\ ] g '7/’\\\
L o Sen TR
— !
- il 1'% !l v eP
Swion | 5 | \:' ‘%'
. Y 2 _
e A~ 3¢ bp
. ‘ ity Y o
N oP Prscry .DAP_M e ¥“Lc‘7'F‘\
' d.,
ST
D ~P
1 N
A o V] A
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A ; D\ \/
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D NP
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Ling120B Midterm Exam Fall 2018

(d) (5 points) List all the terminal nodes which are exhaustively dominated by the

sister of the PP [in the backyard] in the tree structure for Reading A (the tree
structure you did not draw)

Cv Ma,vajlco—\w:\, Ex ergj : ,/

Question 7: Tree drawing (30 points)

Draw tree structures compliant with the X-bar schema that you learned in class.
(a) (15 points) Every Spanish girl will wear a red and white dress at the party.

You can only use triangles for APs and NPs.

P
DP i
\ AT T
D' 7 VP
D N ? N'!“ V\P . P{\).
| A
Wa, SRM—A—S\'\ i VA . /P,\
\Y) P \ A
\ \ X | '
weeS D‘ ) /\P '
s L N
D NP \‘ /\

ed o Aress
white
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Ling120B

Midterm Exam Fall 2018
(b) (15 points) Gill wonders whether the courier will deliver the package.
You can only use tringles for [pp Gill], [vp courier] and [yp package].
P
DP T
G T vP
\ ol i
Brpees) ©v
/\
\ cr
\ ]
e T e . g
T~ /
& TP i
\ /\ /
whetha Dp = /
g ,’/

; ‘ D' v 4 vP
D/:P N:n \‘J'
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